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(A) (B) (A) (%) (B) (A-B)
s = = 1,069,000 962,000 g2 o 3,480,980 17.1 2,529,700 951,280
HdYYI R 13,590,542 13,748,904 24 el 2 &l 1,509,076 7.4 1,407,572 101,504
WERFH= 1,668,938 1,683,138 [l g e | 13,690,880 67.3 13,123,480 567,400
= 95,006 81,946 =92 H 8 9,014 0.0 846 8,168
S At2HIEHAL 2,557,297 1 Ol a] =] 100,000 0.5 50,000 50,000
492,206 0 S XD EFALAL 1,473,750 7.2 185,102 A 1,288,648
DERENHLY S 20,000 A 20,000 DE XA 30,000 0.1 0 30,000
OIS &EII01E 835,011 835,011 DEEMA 14,300 0.1 14,300 0
OIAFEXEDI01 = 20,000 0.1 20,000 0
(= 20,328,000 17,331,000 g A 20,328,000 100.0f 17,331,000 2,997,000
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2022 2% % 2022 %23 =2y o N 4sa]
= o = = ) ®) (A-B)
5100 S22+ 1,069,000 962,000 107,000
5120 42249 1,069,000 962,000 107,000
5121 1438 1,069,000 962,000 107,000 (8 3)  1.069,000,000
BYDS | BMDS SOIBE 4232 1508 & +10DH 3 +102 +281 7| 30,000,000
BYDS |A)BMDS SIIBY 432 45,0008 21%18] -45,000,000
BYDE | ABBABY 2232 11,0008 25124 B 132,000,000
BMDS |@ALBABE +2E 8,000 2+13] -8,000,000
SHDE | H#20/SY HRODEDY 222 1,008 /2002 «45) 800,000,000
2HDE gﬂ)@;{mé*% BRSNS =3 4008 2402 +48 ] 160,000,000
5200 HeIRAY 13,500,542 13,748,904 A 158,362
5210 34 100,002 100,002 0
5211 ZNHEYD 1 ! 0 (8 1,000
wee | =x FEDE 1,000
12 HERUEYD 100,000 100,000 0 (2 100,000,000
zog | wmegmes 100,000& & +13] 100,000,000
5218 HAUFYS : i 0 (2 1,000
wee | =x FEDE 1,000
5216 DUEEID 0 0 0
5218 SEIEANFYS 0 0 0
5220 Il 34l 545,924 710,286 164,362
5221 LBRa 0 0 0
5022 NFIIRS 545,924 710,286 A 164,362 (8 H) 545,924,000
sws=R | AEJIEIOIYH T JR3) 2’50005%*2@7‘”'000&%(”HED“ 103,000,000
SM=T | MEDIEHSHMIIB NEIIRS) 50,0008 &+2811+11,0008 & (R ER) 111,000,000
sa=n | MadiEOle uEdIE3) 50,000 & %2847 100,000,000
Jge | gaiz0igN UE =) 05,0008 & 23! 210,000,000
JNHY  |x)eEIZOILH XNF JI83) 85,0008 223l ~70,000,000
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2 = A= (A) (B) (A-B)
JEe | 2EIB(EHLIE NFILZ) 50,0008 &2 60,000,000
s gf})gamg(amgj@ NENE o ommers R
JEe @R ENZONY NFIILS) 64,362 13| ~64,362,000
5023 17192 0 0 0
2,944,615 12,938,615 6,000
5231 RS 12,474,800 12,474,800 0 (8 ) 12.474.800.000
su=x | 2omsz 198 4,950,000 2+25¢)] 9,900, 000,000
su=x | 2imsz 2nd 350,000 2425t 700,000,000
su=x | 2i2zzsa 350,000 21425t 700,000,000
su=x | Ys2 2& HSNE 400,000 2«15t 400,000,000
su=x | NI 300,000 2425t 600,000,000
e M EELCEEEE) 50,000 2 x23t) 100,000,000
Deg |22 2n ExE wx3 13,000 #1423t | 26,000,000
Deg | 202 2A wEE 92 NS 10,000 #1423t | 20,000,000
neg | sy 1w 2,408 +124 2 28,800,000
5232 JIEFR DA 276,000 270,000 6,000 (8 ) 276,000,000
BuDs | AesD 22N 35,0008 2 x23t0) 70,000,000
BMDS |(1A)ASED 2T 46,0008 x231)] 92,000,000
BMDS |(@A)ASED 2T 6,000& #+13] 6,000,000
sy=x | Je=oms 500,000 2425t 100,000,000
Su=T | HCHHS R (RUHMSNEINZ) 4,008 18] 4,000,000
SM=T | RER SUH(RUMSTEIIZ) 40008213l 4,000,000
5233 X% XHRI EHA 193,815 193,815 0 (& H) 193,815,000
susx | Ao 50,000 2 x23t)] 100,000,000
sy=x | HooERNR(MSE) 10,000% 21+13] 10,000,000
su=x | e zonaz(MS) 10,000% 21+13] 10,000,000
su=x | RER EANAS(HSI) 5,000& #+1] 5,000,000
gyps |([HHT2RBM DARLASN ) sp0m 2108 10,000,000
gse |(xha2HA sy 25 Al 58,8158 213l 58,815,000
BIEIES w ! 0
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, " . 2022 (ZAX)}—.—Q 2022 (1BX)}—.—§ Q(ATB)_‘ o a=a
5241 4tstE 1 1 0 (& ) 1,000
ENN| 18213 1,000
N2+ 1,668,938 1,683,138 214,200
5310 YAI==E+¢ 160,000 160,000 0
5311 YstAAN 0 0 0
5312 #=8lg 160,000 160,000 0 (& ) 160,000, 000]
sty LA=8E =8 160,000& & *13] 160,000, 000]
5320 59 - AIBE =+ 1,508,938 1,523,138 A 14,200
5321 548 25,800 25,000 800 (& ) 25,800,000j
aerol SN2 0183 1,000 & =120 & 12,000,000
e 2432 +==2 1,000 & =124 & 12,000,000
AtdItEE S 10 &x1004 1,000,000
(2XF) AtMIStE 2 ZH 108 24«80 800,000
5322 tolg & AMEE 1,483,138 1,498,138 A 15,000 (& ) 1,483, 138,000
2E o E ME2 (M 35,0008 & 28! J| 70,000,000
(27H)2E oz A8 15,0008 & *13] -15,000,000]
WUAESU(LHZ) SHIALE Alg 24 288 S 187,138,000
Jl=Ab JI==AHI (A CHAIL 1) 850& & x730H <20 D] 1,241,000,000
5330 JIEt RS20+ 0 0 0
5339 JIEtR=E=2 0 0 0
e+ 95,006 81,946 13,060
5410 OIS O0IR ==& 88,000 80,100 7,900
5411 OISOl Xt 88,000 80,100 7,900 (& ) 88,000,000
A=012 0= 65,0008 & *13] 65,000,000
S UIINIIIS Ol Kb== 1008 213 100,000
golo3 ol k=< 8,500& & *12] 8,500,000
2803 ol 6,500& 2 *13] 6,500,000
(2xH) 012 Ol Xt 7,900 2«13 7,900,000
5420 JIEt LS 2l +=¢ 7,006 1,846 5,160
5421 &+¢ 7,006 1,846 5,160 (g ) 7,006,000
JIEE ¢ 1,0008 2«13 1,000,000]
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2 & = A=
Jme | e may 6728 21+18] 672,000
=g |(x)oie may 534 2+13] 174,000
Jge |exoe zay 480& 21+13] -480,000
A=A |er)ezso 58 2146000} 3,000,000
WYDS |(2X)SSEAAN SAHNT 22l 2,64082+13] 2,640,000
1200 SXH2IIIEFTH&H 2! 2,557,297 ! 2,557,296
1260 2017|201 E 42! 2,557,297 i 2,557,296
1262 oI Z0IE 0 0 0
1263 2|2 ZIZ01E 1,270,000 0 1,270,000 1,270,000,000
Hey |exgenz sy 1,770,000 2+13| 1,270,000,000
1264 2lolFEIIZOE 8,648 0 8.648 8,648,000
Hey |emzaiz os 8,648 21+13] 8,648,000
1265 QoI5| x10| 2015 0 0 0
1266 oS Y =HI|ZolE 1,278,649 ! 1,278,648
126601 2+EIIKINTI 2 8,649 ! 8,648 (2 8,649,000
wee | z=x FEDE 1,000
Hey |exgenz sy 8.6487 2 12] 8,648,000
126602 CHEISHXIRII2 0 0 0
126603 £I%0/2 1,270,000 0 1,270,000 1,270,000,000
Heg  |emzo.sza=oz 1,000,000@%(%01I)+270,000§%SJ) 1,270,000,000
1300 TR0 2442 492,206 0 492,206
1310 SEDH T4 492,206 0 492,206
1311 EX0H20H 492,206 0 492,206 492,206,000
NEE  |@H)DSE EX 02 49 492,206% 21+13] 492,206,000
1312 A2 0024 0h 0 0 0
1314 2121 2002 Ch 0 0 0
1316 X2 UrTON2tCH 0 0 0
2200 DEEHYS 20,000 20,000 0
2220 JIEFDH 2 20,000 20,000 0
2221 YR EI4Y 0 0 0
2209 JIEIDE B AL 20,000 20,000 0 (2 20,000,000
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2 & = M=
neg 2022 A ElX S =Y 10,000& & »28! D] 20,000,000
59 DIALSAII0IE X3 835,011 835,011 0
5901 OIAFESEDI01E A3 835,011 835,011 0
a2 2 20,328,000 17,331,000 2,997,000
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5 2022 2022 = o o
X =Y 1X=H “A8) 2 A AE2H
2 £ =2 He (A) (8)
BYHUS [(IZHHEDDSEN D202 ALY BAE TOH 15 10A12H, 1203 2% 10A1 2+ 1,900,000
Qste (IR ZHA ST TAIY AIAUA £Y 50 2155441 2 2,700,000
St [(2xh) 2L SHMTTAIY AILAL 3G 507 9 «30A1 2 1,520,000
4116 Sgol2 243,690 202,340 41,350 (& ) 243,690,000
WMLUS [FHDS| AR 30 215155 #2A1 281 H 251D 14,400,000
HMDS [IHBMDSI SAR BA4F U6 127 6,050,000
BADS |MAMUE ST SAR 350% &« 131 %254 | 700,000
HMNS [CIUSHUE S2 AR 350 & *131%25¢ | 700,000
BYUS [(IZHHEDDSEN D202 ALY BAE B00F & x13] 600,000
AHDE [SHFOIBAR(SZAD 30F 8 «150Al 2H*48E )|+ 100K B 180,000,000
SHRE [(RXDERUHBAIR (IS 2ZA 30 B «23AI 2H+48E D] 117} B 31,200,000
SHRE [I)E2BAR(SESS) 160 212,51 & *32 #4 8t 4,800,000
AMDE Rt HEE 423 S 100& § «2Al 243 800,000
2HDE |gE F H20DS(SADY) 30F &% 120A12Hx 184D 3.600.000
Uste [N SA SHMATAIY EXLA 2Y 20F 15112412+ 2,240,000
4117 DYUE RS 26,000 26,000 0 (&t AH) 26,000,000
WRE 2022 BA EIRZ =Y 10,000 & #2584 20,000,000
WN2E 2022 AA EEHS XS 3,000& %25} 6,000,000
4118 ZmOI2H 82,800 82,800 0 (gt H) 82,800,000
£28 [z =oa3 3,000& 211294 & 36,000,000
228 |zn APPERYS 2,300& 212042 27,600,000
£28 |Zn 1828E 1,000% 2+ 1204 2 12,000,000
228 |Zn smeEE 600% & 12042 7,200,000
4120 AL 870,400 835,800 34,600
4121 =2Z0] 0 0 0
4122 MAL0IS 0 0 0
4123 MY 171,700 1,700 170,000 171,700,000
gste (IR ZHA SIMTTAIY SYX 22 800F 2I+600% & 1,400,000
BYHUS [(IZHHEDDSEN DR S AR} &g 300% & *13] 300,000
IOV EEES PN 50,0003 & 2% 100,000,000
28 |er)sgs sy 70,000 & *1% 70,000,000
4124 MAHFLES 554,600 657,600 103,000
HPASI IR T 302,400 302,400 0 (8 ) 302,400,000
£28 |masseizRas 24,000& | «1204 & 288,000,000
228 |FENdEaRES 1,200% 1+ 1201 2l 14,400,000
R 20,000 30,000 /10,000 (& ) 20,000,000
98 [ Y g IgaRal 2,500% &1+ 1201 2l 30,000,000
28 (2RI ¢ 48X FAILES 10,000 21+13| 10,000,000
nAALEER LS 174,000 174,000 0 (8 AH) 174,000,000
28 |FAAEERHS 14,500% 21 «1294 8 174,000,000
HNADNEMWES S 19,200 31,200 212,000 (8 AH) 19,200,000
z28 [zangess 1,800& 2% 1204 2 21,600,000
28 |[AAMNLES 800 & * 1201 2 9,600,000
28  |(ex)EY g MEER2 12,000& 81+13| 12,000,000
EEEREESS, 39,000 120,000 81,000 (&) 39,000,000
£28  |AstogEEsgRas 40,0008 2133 120,000,000
28 |(2x)AEBE RLgRas 81,000 & *13] 81,000,000
4125 2 AIZIQI2AH| 141,600 174,000 32,400 (&) 141,600,000
2HDE |SAA2(HEY) 1,000& &+ 1200 2 12,000,000




5 2022 2022 = o o
X =Y %= °(Afo 2 ME2H
z & = M= () (8)

W=2E  |JIEAY 2,700 2 «120H 2 32,400,000
DRE  [(2XH)IIEIAIY X o12A4H] 2,700 & «1200 & -32,400,000
JISAL |LAIE S0 2,400 2401 %10JH 2 96,000,000
HMUE |HAE = oAl 2,500 2 «6)H 2 %28t )| 30,000,000,
FMUE |HUs) MY Hordz 300% 2«6 2 *28t )| 3,600,000
4127 D AE =2 2,500 2,500 0 (8t ) 2,500,000
FMNE |HAs) DY €T 2,500 2«14 2 2,500,000

4200 2l 2| 1,509,076 1,407,572 101,504

4210 A& 221 260, 190 976,231 AT16,041
211 Az el 15,500 25,000 9,500 (8t ) 15,500,000
ANEE |EBS8A SIS 10,0003 23] 20,000,000
ANEE  |EBS8AF XISt HE ZAF 5,000& 2«13 5,000,000,
AAE  |(2x)2=Soeld 92 HetH2 o2 9,500 & & +13] -9,500,000
4212 ZH|2elyl 159, 120 159,720 600 (8t ) 159,120,000
ASE  |Z2sAF B30 A0i2 & 22l 700& & «128 8,400,000
ANEE  |E2s8tAt 2AE &l 22l 300% 2128 3,600,000
ANEE  [ZHASZ MED 29 60 2« 122 720,000
AEE  [(2XH) A BRIl U2 LYHIZ 0l 600 2 13 -600,000
H2E  |(IX)EMHOIX 2= A 147 0008 213 147,000,000

4213 =A@ 22l 0 0 0
4215 A2 33,570 15,500 18,070 (&t AH) 33,570,000
ANME  |Z28IAL MAIZIR| AIAE PRIBN 700% 2128 8,400,000
ANEE |228At ATRIAA 22I8Y 300& & «128 3,600,000
ANEE |E8S8tA Yors 700 2«52 3,500,000,
ANSE  [(2X)ES8AF ATE WA A= 3,070 2«13 3,070,000
AME (XXX HX 28 TAHE 82X 15,000% 2 13| 15,000,000

4216 288 0 0 0

217 2lA - gx2 0 0 0
4219 JIEFAIE BRI 52,000 776,011 AT724,011 (&t AH) 52,000,000
ANEE [EBS8A AEE RXES 3,000 2 «128 36,000,000
ANSE |2S8A BHERIA DR 5,000& & +23] 10,000,000
ANEE |Z2S8Al B4 U QMEE 19 3,000& 2 +23] 6,000,000,
AEE U2 L AR 60,3347 2123 724,011,000
AAE | (2XF) &0 & AL HI 60,3347 2123 -724,011,000

4220 B2 958,721 142,780 815,941
4221 OlHI W EH| 27,780 28,180 A400 (8t ) 27,780,000
IHMLE |EZHI(2WH) 1008 2«2 %103 2,000,000
IHMRE |EFHI(29) 4,0008 2 %22 +33 24,000,000
A |HoISE 2 Wg &4 2 Y 150 & 81 +23] 300,000
HMLE |22 SHY| 40H el*129 480,000
HMDE |HAE) SHY 7003 2 «28¢ )| 1,400,000
HMUS |(2Xh) A %Y SEH| 200 2254 -400,000

4222 TR XY 0 0 0
4223 A2 EH| 4,800 4,800 0 (&8 Al 4,800,000
JISAL [JISAE AIE SXIES 400F 2 +12J0 B (B3 E 20000 E &) 4,800,000,
4224 QI ETHH 500 500 0 (8t ) 500,000
SRR |84 2 K002 HE 500& & +13] 500,000
4225 LHEtH| 250, 100 36,000 214,100 (8t AH) 250,100,000
ANAE  |Z28tAb TAIDIA L Lhgty| 5,250& 2128 36,000,000




5 2022 2022 = o o
X =Y 1XE=Y “A8) 2 A
2 £ =2 He (A) (8)

AEE (2R ESSAL TS SAIDIA 104,000,000
AZE (XD SAIDIA 2 LG 110, 100,000
4206 MI| - A== 666,561 70,500 596,061 (& ) 666,561,000
N N ESBIN ] 43,500,000
ANZE  [BUHSZ BIYGHLER 27,000,000
ANEE (2R ESSALTISE BIIMEEER 125,661,000
AZE  [(2x)EIIMGEER HISSHZ ol 420,000,000
AlZE () FEDIMEIeE2 HISSIHZ o2 50,400,000

4207 S4IH| 0 0 0
4228 MM - B3 8,400 1,000 7,400 (& ) 8.400,000
2 DFE 5 b 800,000
e s 9 Ws #4 g3l 200,000
(2R B LS 7,000,000
(2XH)AYOHE BRI X 3H 10,000
(EOkPIPIEERET 170,000
(2XH) XS XAl 220,000
4229 Ng%4+2 580 1,800 A 1,220 580,000
0 JEx42 X2 300,000
(2ZIELLE X2 -220,000
AL WY =S4 E 1,500,000
(2xH) A2l BE LSS 1,000,000

4230 2t 290, 165 288,561 1,604
4231 =els MY 700 700 0 (& ) 700,000
WSIAASAYAISH EH 0F2s 700,000
4232 MR EH| 5,050 5,050 0 (& ) 5,050,000
AMLE oS E I 1,200,000
BIROUAL A2AG AT 3,000,000
MERBRIX Olsl K4S 850,000
4233 2prE it 0 28.800 /28,800 0
[EHM 22IYL(HEY) 2,400F 211204 2 28,800,000
(2ZH) S5t RRlHL(HIEY) 2,400& 211204 8 28,800,000

4234 J|2E A2FAY| 0 0 0

4236 DIEF PRFETH| 0 0 0
4237 24| 17,400 22,400 A5,000 (&t AH) 17,400, 000
2WLE |22 223 2222 4,000% 21 *18+1,000& 2 *13) 5,000,000
MS2  |MOX, #49 ME S 3,000,000
Ms2  |@X)FEX, B4 MR S 3,000,000
HMNS (22 223 HME L HIE S 2,400,000
HMDS (K ED S 12,000,000
HMDS [(2RH)ALED S2H| 2,000,000
4238 312/H| 9,100 8,300 800 (& ) 9,100,000
DE [FHRFHE 2H5H| 1,500,000
g [srR01ns4H 29359 800,000
DE |(ex)E=0nSHE 25| 800,000
0 (Herstn 319yl 6,000,000
4239 3 At 7,200 7.200 0 (gt AH) 7,200,000
FNLE [2HRE o 2,000,000
IMLE [BH20I8t8 YBtAl 2BA, BOotA S 5,200,000
4241 JIEF2 2 H) 250,715 216, 111 34,604 (gt H) 250,715,000
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5 2022 2022 £2 on o]
X =Y 1X=H “A8) 2 A AE2H
o g = I (A) (8)
JISA |YAER0I A S 2008 2 +23] 400,000
DAL [ AHALY 3003 & *13] 300,000
DAL (2R 2 AMAIY 100 & *13] 100,000
BANS |JHAs) Y34 S 4,003 8 %135]%281 ] 8,000,000
HANS [(2X)HASDY 34 S 1,500& %28t -3.000,000
su=xl [HEQE R XIHI(HS3l) 10,000 2113 10,000, 000
sty=X [BEIER XY (ZRIMSNEDD) 4,000% &+ 13 4,000,000
SM=T [BHEQIEE XIRHI(J1) 3,000& 213 3,000,000
M=l [ReR HUXAS (MRS 10,000% 2113 10,000,000
M=l RS SHXHI(HKS) 5,000& 13| 5,000,000
SNl |REY ERHI(IVUMSEEIZ) 4,000% 21 +13| 4,000,000
M2 RS SEXHI(SE3) 11,000% 2113 11,000,000
gstel (IR ZeHA SHMA ALY St 1,980% &+13] 1,980,000
4330 24 Al 2t2lH] 160, 000 160,000 0
4331 YA 0 0 0
4332 24 AIZH 160,000 160,000 0 (gt AH) 160,000,000
St [SrErsl O ($AlL, BAN-HIEEE 12,000% 2113 12,000,000
QIStEl  [SrEts BOi (Al BAD-JIEIE S 11,000 & *13] 11,000,000
gstel [ ECI 30,000 &1 %13 30,000,000
stel  [emDA HEHA 28 10,000 & *13] 10,000,000
gste  [smDA 2 BRAAY 32,0008 & *13] 32,000,000
gstel [osEz2 M 43,1008 & *13] 43,100,000
stel (AR A 600 2«54 2 3,000,000
Uste [QAYE AREH 200% & 53] 1,000,000
Ustel  [e®z 1,000% 213 1,000,000
gstel  [asegto a4z 800F 2«13 800,000
gstel [aasgs sy 5,000% 213 5,000,000
UStE |22 F4 OE s32 10,000& #1%13| 10,000,000
gste  [gstmain gx 1,100& 213 1,100,000
4400 DS 2AHIS 9,014 846 8.168
4410 XIS0I X 0 0 0
4411 XISO0IX 0 0 0
4420 JIEI DK QAHIS 9,014 846 8.168
4421 Be=al 9,014 846 8.168 (&t AH) 9,014,000
Jl=lE |JIE Eaayl B72E 2 +13] 672,000
JIEE |(IRDIIE Z&ad| 534% &1 x13] 174,000
D=8 |(2RHIIEF BEAH| 480% 2113 480,000
ST |(2XH)EEDIZ Bhat 8.648% 2113 8,648,000
4500 B &2 0 0 0
4510 &3 0 0 0
4515 SESIHNTES 0 0 0
4516 DUES2 0 0 0
4600 0161 HI 100,000 50,000 50,000
4610 0f1HIHI 100,000 50,000 50,000
4611 0f1H1HI 100,000 50,000 50,000 (& AH) 100,000,000
I L] 50,000% & *13] 50,000,000
R T 50,000 & *13] 50,000,000
1200 S XHEDIEFREAF 1,473,750 185,102 1,288,648
1220 SXIXFAXI & 0 0 0




5 2022 2022 £2 on o]
TES X = | ®
2 & = e T "o (#8) "
1229 JIEL= R AAIAI 2 0 0 0
1240 JIE K & 0 0 0
1241 DO ESZEINE 0 0 0
1242 AN2EINE 0 0 0
1243 ZIHOISXZ 0 0 0
1249 DI G & 0 0 0
EEEBEEE 1,473,750 185,102 1,288,648
1262 2ol 2ol 3 =g 1 1 0 5 3 1,000
wee  |Ex 1,000
1263 Yol =135 e 185,000 175000 10,000 2 185,000,000
nee  |2eA=03 55,000,000
Wee |z 10,000,000
EEI EEEESEY 10,000,000
o8 [#e7a050123 o8 50,000,000
e PEEE P ER L 10,000,000
PR 50,000,000
1264 QoIF IS HE 8,649 i 8.648 B 8,649,000
e 1,000
EE 8,648,000
FEEEEREEE 0 0 0
1266 AoISH=HI SR 1,280, 100 10,100 1,270,000
B0 I 10.099 10.100 - ° i
e ERTETETCEEET 100,000
EE )2t 1,000
e IS @S TIE) 10,000,000
e mES 0 0 0
e 1,270,001 of  1.270,001 1,270,001,000
| NN ED 1,000
Cx)BoE, s % 01)+270, 0008 & (819 1,270,000,000
Soie 30,000 0 30,000
B RER 30,000 0 30,000
1311 E XA bl 0 0 0
1312 A= 02 bl 0 0 0
1313 2& =012 bl 0 0 0
1314 210012042l b 0 0 0
1315 &JI0I 026 0 0 0
1316 xi&e ot 20l 0 0 0
1317 C A= 20l 0 0 0
1319 A& IE 30,000 0 30,000 30,000,000
(X BH+X_ax ze a8 30,000,000
EENE] 14,300 14,300 0
2210 Boina s 0 0 0
2211 Bonasae 0 0 0
220 DB nEEMA E 14,300 14300 0
2221 gUzE3eS 300 300 0 300,000
AsE _|sw =3t 253 N2 500,000




o= 2022 2022 ~ o o )
PINEE ] X5 Sihg) 2 A AE2H
2 & = e (A) (8)

R NEEERE 0 0 0

2009 JIEFDE S I 0| A & 14,000 14,000 0 (& H) 14,000,000

0PE  [2022 A EIES XS 7,0008 21 %23 14,000,000
49 DIALRTDI0IZE T2 20,000 20,000 0
[4901 DIArERIDIOIZ IS 20,000 20,000 0
H2XE EH 20,328,000( 17,331,000 2,997,000
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